EARAROBEEIERT — 2 N— IBISH —F

2014530178 (A) 12@#1E1H

mﬂﬁ%—ﬂﬁ c2—= EEE R
[A&4] 1 7% :1,000,000  ~ 23 :300,000 . 33:180,000  ~ 4 #:120,000 @ .~ 5 7 :100,000 M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
. . AiREE : —4-1- - HINES (015
11812 TH YT — )L R 4 o4 56_0a 1.(4_4).3 4-4-1-2 | 40.7 1 (4_628) %Eﬁ@%ﬁ( 1)
R:2F4d—I K B:T7aty b HET77— L
N g AHIES 145, -9-7— . = IUARZ: (15
2 ELER =R i 5 et 1(4:3)1 9-9-7-6 | 40.6 5 (4+739) %ié%
T4 >N=h>h)— BRFHXIYTIT IVKRLZRT7—L
SR . i o4 | BIE— 1:45.6 11-11-9-7 | 40.7 | — 8 439 | WiEZ (AaAE)
31811 grorio—-<r 54.0 (2 1/2) (+g) | ERfRE
LiHT NI — BiFA Ty a— 1EE #2
— - — . 3-1- - EHER ($48)
al7] o | XHYZTI1 1 48R o7 B e P e | EE—e
R:TITRRTIA N BiavAt—3 1—ZbT7—L
g RS o5 | Wit 1:45.9 3-2-1-3 |42.3| — 6 588 | HEEEEA (fafE)
50710/ NVEZ R T U= 56.0 o6 ey | B AWED T 7 1o
RToaF1r—F129 B:k—T7171)— NIVEL R T7—L
- s RER 145. -8-8- . - WRE (s
[ 6 W Ah1M4 Ty i d 56.0? 1(7451:5)) 78810 | 41.2 ! (4_914) /JL:.%E‘JE‘
RTANKETy Y2 BYSTILHLR Fh)Ty—1
s 4 6 | BBAH 1:46.0 10-10-9-9 | 41.1| — 2 475 | EEEEL (AAfE)
71 2 EILT7EDHY X 56.0 (1/2) +3) LR SEIPS
L:d—IkAfO— BEILEY Y At Fik
o 4 4 | EHEER 1:46.3 6-5-5-4 | 42.0| — 7 455 | BHBES (8E)
8 6 AHA) T 74T 54.0 (a 1/2) -2) EEAIE §
LA T7AT7 BIVXNIZ— HE &
- = IWHAfEX 146. —-12-12- . — AR (1)
N . APERAS S o4 e 1(416)5 12-12-12-11 41 .1 12 3535) gﬁ%% &
Lo—iA7o— B:TyuF ENCPERERIZ ¢l
- . RBEX 147, —7-6- . — FHEE (MHE)
1wl s 73FFALY K #H 5 il 1(457)5 8-7-6-8 | 43.1 3 (4+816) @ﬁggﬁ%
R:Tw IRy y b Bi74 K= =Ty —1I
= G 4 4 | B 1:47.5 1-1-4-5 | 43.7| — 10 483 | NIBIE— (af8)
11155 KIAZA4 =2 54.0 7€) (-13) =) 1#E
LTV aTFa =T B hUk—FtF 2 Se
SHELAHLY s 4 | ATHER 1:49.7 5-6-9-12 | 44.8| — 11 481 | E:ZE5— (J11I8)
120111 NI TLH 56.0 (21 4) (-4) (\) FIF>
R:TTRTLE— BNTHELRFLY— Ik e
® I —F—EBIERL
13=zr= 5,9,10,12,1,6,7,8,3,2,11,4
Aol=5r= 5,10,9,12,6,1,8,7,3,2,11,4
G§a=7r= (9,10,12),5,6,8,3,7,(1,2,11) ,4
43— — 9,12,10,6,5,3,11,8,2,7,4,1
[ RN
B OB 12 120M 714K 3-12 370M e & 3-8 730M &R 3-11-12 5,740
% B 12 1104 11-12 7501 | | # B 8-3 1,070 | | 3&E [ 12-3-11 14,360
3 250M 3-11 2,860 B E 3-12 840M
1 530M B H 12-3 1,020

ABICOVWTRDTEEERROODE. TR LIV,




